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&0 (PRODUCT)

&0 (PRODUCT)

4Z-10 (PRODUCT)

Moments Moments Moments
N 3970214 | Sum Weights 3070214 N 3570214 | Sum Weights 3070214 N 3970214 | Sum Weights 3970214
Mean 28.4976644 | Sum Observations| 351334666 Mean 51135.0857 [ Sum Observations | 2.03017E11 Mean 1.15036217| Sum Observations 4567184
Std Deviation | 293879947 | Variance 700021359 Std Deviation | 113098.783 | Variance 132477E10 Std Deviation |2.76194176| Variance 762832228
Skewness 193188052 | Kurtosis 387441131 Skewness 13070338 | Kurtosis 336966908 Skewness 186.180229| Kurtosis 30080.5032
Uncorrected S§ |6.28169E10 | Corrected S8 3.17228E10 Uncorrected 8§ |6.29776E16 | Corrected S8 5.25963E16 Uncorrected SS| 33339980 Corrected S5 302860643
Coeff Variation | 101.00605 | Std Error Mean | 004486134 Coeff Variation | 223.087629 | Std Error Mean Coeff Variation | 240.093236| Std Error Mean 0.00138614
Tests for Normality Tests for Normality Tests for Normality
Test Statistic p Value Test Statistic p Value Test Statistic p Value

Kolmogorov-Smirnov| D (0.170244| Pr=1D (<0.0100 Kolmogorov-Smirnovy| D 0328732 Pr=D |<0.0100 Kolmogorov-Smirnov| D (0478292 Pr=D |<0.0100

Quantiles (Definition 5) Quantiles (Definition 5) Quantiles (Definition 5)
Level Quantile Level Quantile Level Quantile
100% Max 500 100% Max 17779000 100% Max 1440
75% Q3 115 75% Q3 30000 75% Q3 1
50% Median 56 50% Median 28900 509% Median 1
25% Q1 28 25% Q1 13000 25% Q1 1
0% Min 2 0% Min 90 0% Min 1

HIT_SEQ

PD_BUY_AM

PD_BUY_CT
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1. B2HE U -4 zous 51257 2/2)

SE710H (PRODUCT) &0l (PRODUCT) &0 (PRODUCT)

Moments Moments Moments
N 3970214 | Sum Weights 3070214 N 3970214 | Sum Weights 3970214 N 3970214 | Sum Weights 3970214
Mean 529079665 | Sum Observations| 2.10056E11 Mean 111.690703 | Sum Observations| 443435993 Mean 1683.539 | Sum Observations| 6634203614
Std Deviation | 117981374 Variance 1.39196E10 Std Deviation 105.447243| Variance 111191215 Std Deviation | 1700.302%7 | Variance 2801030.19
Skewness 13.7932164 | Kurtosis 634455931 Skewness 1.69090858 | Kurtosis 263333709 Skewness 3.19590191 | Kurtosis 20.5718377
Uncorrected S8 | 6.63774E16 | Corrected SS 5.52638E16 Uncorrected 8§ | 93673E10 | Corrected S8 441433E10 Uncorrected S  2.27315E13 | Corrected S8 1.1478E13
Coeff Variation| 222.99339 | Std Error Mean 592115584 Coeff Variation |944100468|Std Error Mean | 0.05252103 Coeff Variation| 100992758 | Std Error Mean 0.8533346
Tests for Normality Tests for Normality Tests for Normality
Test Statistic p Value Test Statistic p Value Test Statistic p Value

Kolmogorov-Smirnov| D (0327904| Pr=D |<0.0100 Kolmogorov-Smirnov| D |0.157769] Pr=D |<0.0100 Kolmogorov-Smirnov| D |0.164238) Pr=D |<0.0100

Quantiles (Definition 5) Quantiles (Definition 5) Quantiles (Definition 5)
Level Quantile Level Quantile Level Quantile
100% Max 17779000 100% Max 499 100% Max 39329
75% Q3 53000 75% Q3 148 75% Q3 1318
50% Median 29000 50% Median 73 50% Median 1163
25% Q1 14400 25% Q1 37 25% Q1 506
0% Min 90 0% Min 1 0% Min 1

PD_BUY_TOT TOT_PAG_VIEW_CT TOT_SESS_HR_V
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‘&= tllofE]”

CLAC3_NM : 22/ Y
Count : 2854 Tojgl viE 4

0} gilo] Ef”
PD_BUY_TOT : & 20K

‘2ol HSHIolE”

ASE AH|Z} MB R
Consumer Preference Index (CP Index)

HIT_SEQ : 22 314
TOT_PAG_VIEW_CT : Al H[0]|] 24
TOT_SESS_HR_V : HA0] {2 A|ZF
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2|5 AH[2} MBS SEA
NEW CP INDEX = _-04%1+0.4X; + X5 — 0.55X,
~_Mean(Total CP INDEX) x5

X,: PD_BUY TOT &%
X,: HIT_SEQ &%

X3: SESS_HR_V &%

X,: PAG_VIEW_CT &8
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3. 2|2} MBR|L . 2) =2 a1

225 185} 4 BES

mall_01 =- mall_01 %=%
group_by (CLAC3_NM) %%
summarise(sum_PD_BUY_TOT = sum(PD_BUY_TOT),
STEP 2 sum_PD_BUY_CT = sum(PD_BUY_CT),
- sum_PD_BUY_AM = sum(PD_BUY_AM) ,

STEP 1.

=H =2 =3
sum_HITS_SEQ = sum(HITS_SEQ) . 1. i"'—'T"SEL'ACi—NM) g2z
STEP 3, sum_TOT_PAG_VIEW_CT = sum(TOT_PAG_VIEW_CT), HES B sum()
SUM_TOT_SESS_HR_V = sum(TOT_SESS_HR_V),
— count = n()) 2. A8 Toj e E LIEHLHE
. M 84 count A
¥ HT El‘ 3. E'EEI'

mall_02 <- mall_01[-1]

mall_02 <- stdize(as.matrix(mall_02))
mall_02 <- as.data.frame(mall_02)

26/50
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STEP 1.
fit_01 <- Tm(count ~ sum_PD_BUY_TOT +
STEP 2 SUmM_HITS_SEQ + sum_TOT_PAG_VIEW_CT +
— e sum_TOT_SESS_HR_V, data = mall_02)
summary (fit_01)
STEP 3.
STEP 4,

> 3|7 AS Sall 2H|2 M2 A2 IHS2| S HT| #E
NN\
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STEP 1.

STEP 2.

STEP 3.

STEP 4.

fol

|;qAI11

o i |

]

call:
Im{formula = count ~ sum_PD_BUY_TOT + sum_HITS_SEQ + sum_TOT_PAG VIEW CT +
sum_TOT_SESS_HR_V, data = mall_02)

Residuals:
Min 10 Median 30 Max
-1.04990 -0.02140 -0.01727 0.00081 0.82349

Coefficients:

Estimate std. Error t wvalue Pri=|tl|)
{(Intercept) -0.0000000000000001233 0.0031970913142504048  0.000 1.00000
sum_PD_BUY_TOT 0.0501272349530799549 0.0079667055886525635  6.292 0.00000000049 ===
sum_HITS_5SEQ 0.4490293336809165758 0.1499479708639510356 2.9495 0.00282 ==
Sum_TOT_PAG_VIEW_CT -0.6271499609954591659 0.1507169135170686458 -4.161 0.00003473159 #=*=
sum_TOT_SESS_HR_V 1.1339695784996883798 0.0519486396449044679 21.829 < 0.0000000000000002 ***

Signif. codes: 0 **=% (0.001 *==" 0.01 **” 0.05 *.” 0.1 ° " 1
Residual standard error: 0.09581 on 893 degrees of freedom

Multiple R-squared: 0.9909, Adjusted R-squared: 0.9908
F-statistic: 2.421e+04 on 4 and 893 DF, p-value: < 0.00000000000000022
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STEP 1.
STEP2. - sum_TOT_SESS_HR_V : 1
STEP 3. S| Al o =2 - sum_PD_BUY_TOT : 0.04
“sum_TOT_SESS_HR_V” 7|& H| &, >
STEP 4. 7I-EZI A -sum_HIT_SEQ : 0.4
F— N\/\INS

- sum_TOT_PAG_VIEW_CT : - 0.55

“NEW WEIGHT”

29/50



ili ollol2ot7ieio] Zt

3. 2|2} MBR|L . 2) =2 a1

2]= CPINDEX E&

STEP 1.

CP INDEX = B,X; + B,Xz + B3X3 + BaX
STEP 2. Bl 1 BZ 2 B3 3 64 4
— WEH I3 48
STEP 4.

2|2 AH|I2 MEAS EEA

0.04X; + 0.4X, + X3 — 0.55X,

NEW CP INDEX =
Mean(Total CP INDEX) x5

= 40| TH9IE 27| A A MBS0 BRI 58 B30I Lis
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5 2ZIH|0IME 373.4655
6 R 294 4451
7 ol oY 273.8663
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10 Eato 192.8416
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1 Ol ST 209.3876 327.9388 118.5512
2 ojM¥RE 41.41444 158.3282 116.9137
3 e Samg 20.90496 123.1796 102.2746
4 ol delmA 660.0904 752.042 91.95166
5 deeas 29.33062 102.7651 73.43444
6 2ZIH0IME 314.9682 382.1358 67.16758
7 o Mg 16.36869 80.22886 63.86018
8 7|EFYE /AR EE 44.92548 106.5824 61.6569
9 MO FYLT| 36.88898 92.59248 55.7035
10 ol 48| 2|9)l0f 41.70092 96.93474 55.2338
" ol SAmY 4356172 5531534 50.95916
12 OLO| A= 56.6371 106.6968 50.05972
13 CIMEEY 98.8598 147.0108 48.15102
14 HE|FHojlofH 50.59842 9273814 42.13972
15 Ho|AYME 128.5712 170.6261 42.0549
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YELER 58 M32|% 8 ME2|4 ME2|4 Azt
1 Ol 4 ETH 209.3876 327.9388 118.5512
2 ojy3aE 41.41444 158.3282 116.9137
8 SHSHTHY 20.90496 123.1796 102.2746
4 ol delmA 660.0904 752.042 91.95166
5 deeas 29.33062 102.7651 73.43444
6 2ZIH0IME 314.9682 382.1358 67.16758
7 o HHg 16.36869 80.22886 63.86018
8 7|EFYE /AR EE 44.92548 106.5824 61.6569
9 MO FYLT| 36.88898 92.59248 55.7035
10 0148]2/9)|0f 41.70092 96.93474 55.2338
1 ol SAmY 4356172 55.31534 50.95916
12 OLO| A= 56.6371 106.6968 50.05972
13 CIMEEY 98.8598 147.0108 48.15102
14 HE[Foj0f7 50.59842 9273814 42.13972
15 Ho|AYME 128.5712 170.6261 42.0549
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4. MU|AH|OF - 2) New epzie

[30CH/0{44/KE D240

S U= &9l 3074]

=
oE LER Haz| 4= LER &2l
oldelm A 771.2878 16 ojM21u/E 0|3} 156.2127
EEICES 599.4832 17 HO|AHME 143.5675
oY= 382.4264 18 [GEEREA 141.5689
271 OIHE 369.0396 19 OfOLE| A 2/ 140.0369
O dEIM2/E 333.5052 20 oY EEH 139.6153
BB/II2C)0| H/HHER 288.285 21 LR d/E 0] Wt 126.1778
ol Ty 263473 22 oYARME 1245697 30CH /49 21 307404 A
E2{M/401F/5t0]2t0|Ef 261.0342 23 Fots2E2ME/EE|H 121.0978
UREETH] 232.2796 24 ECYEE=L] 117.5315
O{NAFHE 210.4632 25 Lhopu}z| 117.3614
O JAHE 204.6992 26 ojMRE 115.6114
RSl 194.4412 27 OlHALIAHZ 113.4587
YQOLE| M= /g 185.7149 28 ISR 109.7027
fotsel 171.7973 29 UMATZME/S2|H 105.6703
FAtol 159.9542 30 HUNATREIMZ 104.0394
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FEREEIE(PK),

S| (Z20|AEID(PK), HE, AYCH)
HMO2(MHELAH(PK), HA7|AED)

3|24 (S2H0|AEID(PK), Y, HHLH)

MAA (MAID(PK), MALAHT)
AM1(220|AEID(PK), MHID(PK), ZM7|{=F)
S| (S20|AEID(PK), HE, APCH)

MA (M HID(PK), MELRH=)

7O (Z2t0| AEID(PK), MEID(PK), SIELHS)
2|2 (S2H0|AEID(PK), JE, HAHCH)
HEEFESZE(PK), 439)

MA(MAID(PK), MH LR =)
TLOH(Z2t0|AEID(PK), MIMID(PK), &+ZR2E(PK
3|2 (S2H0|AEID(PK), &, HHLH)
YEERESIZE(PK), 43T)

HMO2(MALRH(PK), HA7|AED)

<
>
o

ZA1 (220 AEID(PK), MAID(PK), MALZHPK), ZAHZAS)
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Sl CllO[EH|0| A& 2R ERHE A E3H H|OI=

ZE
SE0|FE 1D (PK)
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] Fa
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4B 4 uzes
SEQUTHS (PK) HEIE (PK)
EETT 5EE
il YE =R
i yEzeRe
z B2 2872
A
AEID (PR
- Il
1} T

ook

CREATE TABLE CUSTOMER(
CINT_ID  CHAR PRIMARY KEY(),
CLNT_GENDER CHAR(),
CLNT_AGE INT

)

CREATE TABLE PRODUCT(
CLNT_ID CHAR PRIMARY KEY(),
SESS_ID  CHAR PRIMARY KEY(),
HITS_SEQ INT PRIMARY KEY,
PD_C  CHARPRIMARY KEY(),

PD_ADD_NM CHAR PRIMARY KEY(),

PD_BRA_NM CHAR,
PD_BUY_AM INT,
PD_BUY_CT INT,

CREATE TABLE MASTER(
PD_C  CHARPRIMARY(),
PD_NM  CHAR(),
CLAC1_NM CHAR(),
CLAC2_NM CHAR(),
CLAC3_NM CHAR()

)%

-VARCHAR2(10)
-VARCHAR2(1)

-VARCHAR2(10)
-VARCHAR2(10)

-VARCHAR2(1000)
-VARCHAR2(1000)
-VARCHAR2(1000)

-VARCHAR2(1000)
-VARCHAR2(1000)
-VARCHAR2(1000)
-VARCHAR2(1000)
-VARCHAR2(1000)

CREATE TABLE SEARCH1(
CLNT_ID  CHAR PRIMARY KEY(),
SESS_ID  CHARPRIMARY KEY(),
KWD_NM  CHAR,
SEARCH_CNTINT

)i

CREATE TABLE SEARCH2(
SESS_DT DATE PRIMARY KEY,

KWD_NM  CHAR PRIMARY KEY(),

SEARCH_CNT INT
)i

CREATE TABLE SESSION(
CINT_ID
SESS_ID CHAR PRIMARY KEY(),
SESS_SEQ INT,

SESS_DT DATE,
TOT_PAG_VIEW_CT INT,
TOT_SESS_HR_V INT,

DVC_CTG_NM  CHAR(),
ZON_NM CHAR(),
CITY_NM CHAR()

)

CHAR PRIMARY KEY(),

-VARCHAR2(10)
-VARCHAR2(10)
-VARCHAR2(1000)

-VARCHAR2(1000)

-VARCHAR2(10)
-VARCHAR2(10)

-VARCHAR2(1000)
-VARCHAR2(1000)
-VARCHAR2(1000)
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- Cleansing Rule A =S s S2YHIE
CLNT_ID Z2}0[9IEID CUSTR0| CLENT_ID7t @12 5,024,906 1,035,893  20.62%
SESS_ID HI4ID SESSION®IZ0l| SESS_ID7t @12 3,989,013 11,442 0.23%
HITS_SEQ SEYUHS HITS_SEQ = 1 3,977,571 5,176 0.10% 3,972,395
Arzagy PD_C AEICE 5,024,906
(Product) pp_ADD_NM AtZEz273E
PD_BRA_NM AZEaic
PD_BUY_AM CHUAHEZof PD_BUY_AM = 0 5,024,906 -
PD_BUY_CT  2Ojz% PD_BUY_CT=0 5,024,906 -
CLNT_ID Z22}0|EID CUSTIZ0| CLIENT_ID7t 918 2,884,051 587,005  20.35% 2,297,046
umoqq  SESSID HI4ID SESSIONYIZ0f| SESS_ID7t 9le 2,884,199 148 0.01%
(Searcht) kwo_Nm  zazieey NPV 2,884,943 744 0.03%
SEARCH_CNT = ZA#2i% SEARCH_CNT = 0 2,884,943 - '
SESS_DT M4zt
ZAM012  «wp_NMm AM7|9EYy SEARCH_CNT =0 8,051,172 - 8,051,172
(Search?2) KWD NM IN
SEARCH_CNT ZMz% (g et | gy | 8051172 5,109 0.06% 8,046,063
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=11 Data frame Cleansing Rule A 7114 SUY AL SYHIE 2M oS

CLNT_ID 2210|9EID CLNT_ID IS NULL 671,679 -
3| CLNT_GENDER k| CLNT_AGE IS NULL 671,679 -
(Custom) -\ acE Ay CLNT_GENDERIS NOTIN ('M''F') 671,679 - 671 679
CLNT_ID 2210|AHEid CUST 20| CLIENT_ID7} §ig 2,698,696 477,574 17.60%
SESS_ID M|I4ID PRODUCT 0| SESS_ID7} €12 2,221,122 1,043 0.04% 2,220,079
SESS_SEQ MEYeHS
SESS_DT M|zt
MM 2 1|07 TOT_PAG_VIEW_CT IS NULL 2,712,907 274 0.01%
(Session) TOT_PAG_VIEW.CT | = 51214 TOT_PAG_VIEW_CT=0 2,698,696 - 2,698,696
) TOT_SESS_HR_V IS NULL 2,712,633 0.51%
Z MM A7 ~ e Sl :
OIS =i SHBAIZEL TOT_SESS_HR V=0 2,698,696 2,698,696
DVC_CTG_NM 7199
ZON_NM AdAces
CITY_NM AHZREZ
PD_C AZIC PD_C IS NULL 847,652
PD_NM AEY PD_NM IS NULL 847,652
CLAC1_NM MEOESY  CLACI_NMIS NULL 847,652
CLAC2_NM ME z220  CLAC2_NMIS NULL 847,652
CLAC3_NM AZ L2208 CLAC3_NM IS NULL 847,652 847,652
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